<d x> (um) for PY,

Ratio

<oy > (um) for PV

Ratio

<0z > (um) for PY,

Ratio
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Vertex z (cm) Vertex z (cm) Vertex z (cm)
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<dy > for merged vertices (um)

10

L T 200

OF----+-- : : : : : : : -400,
IO 90010 0 SO0 OO OO JUUP 01 OO N P veeecevee evvsveveseee ™ 94 RO SN, VOV OV UL A OO O
£ 4.4 1 IR e ’: | TITEMTE g f LT

E HIEIT ; @ K 1l @ [ ] [+

0.9E T T e E BT . T T
0'—710 -15 -10 -5 O 5 10 15 20 -20 -15-10 -5 0 5 10 15 20 0'—20 -15-10 -5 O 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)

000 T £ 100¢ fgsooo_ E E
i S| = 8of = : ;
[ N N eof g F : :
800 --1-¢ H N 60F = 100[o] R ERREE REREE e L RRRREAEEEE
i Sk vV 40F S I § 5
. o ie] - : :
600 1 20F 83000 ---¢----wko - (REEEE SRRRE RS- { AR
L : o @ : :
L : O £ : :
400_—' : 1T —20F ; */%2000 | ERRERSRER
; s} ol A s
200__' 7 N N —60:— ) V1000 -+ +-neiemeen- ................. | S
3 80 - s
oF AT F [ T PP [ .0 i " e radoees
12F JFH T F] B = TTHE :
E B d © T H
3 : : S T
08F--+-teof- il Tl UL
F : 1 11T B B H ANIR 3 0.5 5 11| 1 -
08 - ~--¢ - B O o A TEE L LG E VTR
-20 15 lO -5 0 5 10 15 20 5 10 15 20 —ZO 15 10 -5 0 5 10 15 20

Vertex z (cm) Vertex z (cm) Vertex z (cm)



	Contents
	Page 1


